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CERTIFICATE IN NUTRITION AND CHILD 
CARE 

Term-End Examination 
December, 2017 02188 

CNCC-002 : ORGANIZING CHILD CARE 
SERVICES 

Time : 3 hours 	 Maximum Marks : 100 

Note : Question No. 1 is compulsory. Answer any other 
four questions. 

1. 	(a) Fill in the blanks : 	 10 

(i) Intelligence is influenced by 
	and 	 

(ii) Physical and motor development 
follows two directions : One is 
	 and second is 	 

(iii) When the child plays by herself, it is 
referred to as 	play. 

(iv)	 period is characterized 
by egocentrism. 

(v) Vegetable and fruits are important 
sources of 	and 	 

(vi) Attachment helps in development of 

(vii) The vowel like sound produced by 
two month old baby is called 
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(b) Write short notes on any two of the 
following : 	 5x2=10 
(i) 	Creativity 

Sensori motor stage 
(iii) Autonomy Vs. Shame and doubt 

	

2. 	Explain the following statements : 
(a) "Development and learning are the result 10 

of interaction between heredity and 
environment". 

(b) Describe : 	 5+5=10 
(i) Care of the mother during pregnancy 

and care of the neonate. 
(ii) Concept of critical periods. 

	

3. 	(a) What is the significance of play in the early 10 
childhood years ? Give examples to support 
your answer. 

(b) What are the factors you will keep in mind 10 
while selecting educators and personnel for 
your child care centre ? 

Describe the characteristics of thinking of a 10 
preschool child. 
Describe two activities to develop 
the cognitive abilities of a five year 
old child. 5+5=10 

5. 	(a) What is meant by the term 'development' ? 10 
Explain any three areas of development of 
a child with examples. 

(b) Describe a parenting style which in your 10 
opinion is appropriate for children's 
development. Give reasons for your choice. 
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6. (a) What is the importance of rhythm, music 10 
and movement in a curriculum for 
children ? Support your answer with 
examples. 

(b) What are the factors you will keep in mind 10 
while narrating a story to the child and 
why ? 

7. (a) What are the different ways parents 
punish their children ? What is the 
impact of punishment on the child's 
development ? 	 5+5=10 

(b) Explain how parents can : 	 5+5=10 

(i) manage aggressive behaviour of 
children 

(ii) promote altruism and empathy in 
children 
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(b) r-v-iiiirtgcr A.  ich41 Al 	#fk-r7 fzwf.1 	4 
fRtrR : 	 5x2=10 

(i) kpfriloichof 

(ii) 1:0t-i9hti I cl-1 et) 3T4T-P1T 

(iii) co1I+-171474 ti.4 

2. (a) 	 T949.  711Z thlf-47 : 	 10 
"fq-*-R4 3 4ltsmi 37-1-4‘q.rw-d-r 3fR trftkvr 

.11-a at:fibtii 	trftarm.  ti" 
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6. (a) 	tvi .acii 	TrTrvz{f 	wi 	tcb 	10 

ribqicbotki r 4zrT 	t?3.70 ZW(*Tiki 

dqiut q \IR I 
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7. (a) '4 Off-14 	 ci4 	TOT- 411 3 
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(b) 13:1q Trr47 : 	 5+5=10 

(i) Trr-dr-fcr-dr mo t'aTrwrgrw c),-mk 
tic0 t 

(ii) # 4t144)1 tai 

61111q1 tic0 t 
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